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For most forms say something congruent is as simple as definition if they have the same size and shape. Example: Identify two pairs of congruent forms from the options below. Shape A - if we rotated it 90 degrees, it would fit perfectly into the shape of C, so they should be the same. Form A - Form C
Shape D - we can see that if we take a mirror image of it (which is the same as flipping a paper cutout), then the result will fit perfectly at the top of the form of H. Shape D and Form H There is one form that has its own special rules for congruence, and that is the triangle. If we have two triangles that pass
one of the 4 rules listed below, then they should be congruent. If the two triangles have all three sides in common, then they are the same. When two triangles have two identical angles, and the length of the side between them is also the same, they are the same. The two triangles are the same with the
same sides and the angle between them is the same. Two triangles with a right angle, hypotenuses, and the adjacent length will match. A state that you can use to prove that these two triangles are the same. We see that both of these triangles have one side of 3.2 cm long, the other 4.5 cm long, and the
angle between the two sides is 48 degrees in both triangles. In other words, this pair of triangles passes the SAS congruent test. Determine which triangle (s) of B, C and D matches with A. State, which test (s) for congruence you used. Let's check each form individually. Form B: has two angles in
common with A, but the side is of different lengths. Form C: It has two angles and a lateral length in common with A, but in order to pass the ASA side length test must be between two corners, which is not the case for C. Form D: it does what Form C is not - all numbers are the same, and the side we
know is between the two corners, which means that the form D coincides with A according to the ASA criteria. Form D coincides with form A. If we were to take form B and move it down and to the left it is ideal on top of the F form, without the need for rotation or flipping. Forms B and F make the first
congruent pair. If you shifted the shape of E slightly to the right, you'd see that it's an accurate mirror image of the G shape. If we were to take the shape of the P, move it across the right and rotate it 90 degrees counterclockwise it is ideal on top of the shape of the P and q to make the first congruent pair.
If you move the shape of M slightly to the left and rotate it 90 degrees, you can see that it is an accurate mirror image of the shape of K. In other words, if cut out M and flip it over, resulting in the result perfectly fits into the shape of K. Forms M and K make a second congruent pair. If we were to take the
shape of H, move it across the left and rotate it 180 degrees it is ideal on top of the shape A. Hence, the forms H and A are congruent. In addition, because D and G are diameter 2 circles, they are the same. The first thing we should notice is that Triangle B actually has more information than we need to
check for congruence - all 4 tests require 3 bits of information, but this one has 4. Given this wealth of information, let's see if anything coincides with B. Triangle A: it has an angle and two sides in common, which indicates the congruence of the SAS, but the angle is not between the two known lateral
lengths, so it doesn't match. Triangle C: This has 3 lateral lengths, like B, so it should match using SSS criteria. It doesn't matter that there's an extra known angle in A. Triangle D: this time, we have a corner and two sides in common with B and the angle is in the right place, so it matches B according to
SAS criteria. So we know that C and D are the same as B, or in other words, B, C and D are the same. Given that we have determined that A does not coincide with B and B has information C and D combined, it should not be the same as anything, so only B, C and D remain. Two triangles can be shown
as coinciding with the SAS rule: two triangles with two sides are the same and the angle between them coincide. Shown here is the side of the side: AB-LZCBA-CB and X'-£'XY-XY respectively. So the ABC and XY' triangles are the same. In order to continue to use our website, we ask you to confirm your
identity as a person. Thank you so much for your cooperation. Print Answer Key PDF Take Now Schedule to copy print tests (only the test content will print) Related topics: More lessons for GCSE Mathematics Examples, Solutions, Videos, Activities and Sheets on Congruent Triangles that are suitable
for GCSE maths The following figures give tests for congruent triangles: SSS, SAS, AAS, SAS, RHS. Scroll down for more examples and solutions. Congruent triangles are the basic rules and some form of application This video looks at the congruence triangle. As one triangle is an exact replica of the
other in terms of its sides and angles. Five tests (SSS, SAS, AAS, SAS, RHS) to show that one triangle coincides with another is explained. A special case of congruence of the triangle with a right angle is considered in some detail, using Geogebra designs. Three solutions to congruent problems are
explained. GCSE Tutorial Congruent Triangles Proof GCSE Mathematics Higher SSS, SAS, ASA, RHS Triangle Congruence - SSS, SAS, ASA and AAS How to Get Try the free Mathway calculator and problem solving below to practice different math topics. Try these examples, or use your own problem
and check check answer with a step-by-step explanation. We welcome your feedback, comments and questions about this site or page. Please send your feedback or requests through our feedback page. Page.
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